
BY  W U N D E R L I C
H

FO !IN
- Montage wie bei 28360-201/202
- M 8 x 75 in Verbindung mit Lampenschutzgitter 20420-xxx

- Assembly as in 28360-201/202
- M8 x 75 in conjunction with Lamp protector 20420-xxx

Sicherungs Scheibe
safety washer

Zusatzscheinwerfer
BMW R 1200 GS/LC

Bestellnummer 28360-501/502

Auxiliary lights                
BMW R 1200 GS/LC

Part Number 28360-501/502

Luci ausiliarie              
BMW R 1200 GS/LC

Codice 28360-501/502

Lumières auxiliaires 
BMWR 1200 GS/LC
Pièce 28360-501/502

Luces auxiliares           
BMW R 1200 GS/LC
Pieza 28360-501/502

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Managing Directors: Erich Wunderlich, Frank Hoffmann • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

Fahrtrichtung/direction of travel

D14,5xd8,5xh50mm

M5 x 12

M8 x 65

9021A2-5

D12xd6,5xh8mm

M6 x 20



BY  W U N D E R L I C
H

Sicherungs Scheibe
safety washer

Zusatzscheinwerfer                 
BMW R 1200 GS/LC

Bestellnummer 28360-201/202

News, Shop, Downloads + Informationen:
www.wunderlich.de

Kataloganforderung + Downloads:
www.wunderlich.de/katalog

Catalogue download (English):
www.wunderlich.de/update

General information, dealers and news:
www.wunderlich.de/International

Download catalogo (italiano):
www.wunderlich.de/update

Informazioni generali, dealer e Novità:
http://www.wunderlich.it

Télécharger les catalogues (francais):
www.wunderlich.de/update

Informations générales et distributeurs:
www.wunderlich.fr

Descargar los catálogos (español):
www.wunderlich.de/update

Informaciones generales, tiendas y noticias:
www.wunderlich.de/International

Auxiliary lights                
BMW R 1200 GS/LC

Part Number 28360-201/202

Luci ausiliarie              
BMWR 1200 GS/LC

Codice 28360-201/202

Lumières auxiliaires 
BMWR 1200 GS/LC
Pièce 28360-201/202

Luces auxiliares           
BMWR 1200 GS/LC
Pieza 28360-201/202

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Managing Directors: Erich Wunderlich, Frank Hoffmann • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

C 7

6

3a

1

2

5

3

4

Batterie (+)

(-)

B

1

2

right sideleft side RL

R

Fahrtrichtung/direction of travel

M5 x 12

M5 x 12

M5 x 12

D14,5xd5,5xh4,0

9021A2-5

M5 x 12

M8 x 65

9021A2-5

A

FO !IN
Bei Arbeiten an der elektrischen Anlage grund-
sätzlich Batterie (Minuspol) abklemmen! 
When working on the electric system always 
disconnect the battery (negative pole).



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich, Alexander de la Motte • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

I

IV

III

II
Ø = 12.7 mm

L = ~180 mm/ 7"

Ø = 9.5 mm
L = ~65 mm/ 2.6"

V

Metric Ruler for determining bolt sizes: When measuring bolts, 
only measure the length of thread and shaft without the 
bolt head. For example, M5x12 means diameter of bolt is 
5 mm, length 12 mm.

Schraubenlineal: Das Lineal soll Ihnen bei der Identifizierung 
der Schrauben helfen. Bitte bedenken Sie, daß Schrauben 
an Ihrer Einschraubtiefe gemessen werden, also ohne Kopf. 
M5x25 = Durchmesser 5 mm, Länge 25 mm

Il righello per identificare la lunghezza giusta di ogni bullone: 
Quando misurate i bulloni misurate soltanto la filettatura 
senza la testa. Per esempio, M5x12 significa che il diametro 
della vite é 5 mm, la lunghezza é 12 mm.

Schraube 
Bolt

Bullone

Anzugsmomente 
Torque Values

Valori di coppia

M6 mm 6 Nm 4.5 ft-lb

M8 mm 15 Nm 11 ft-lb

M10 mm 30 Nm 22 ft-lb

M12 mm 55 Nm 40.5 ft-lb
F

E

Copyright by Wunderlich©

2

D

R

R



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich, Alexander de la Motte • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

R

H1

H2

R

R

3

G

I

R

J1



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich, Alexander de la Motte • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

L L

Schraubensicherung
Thread Locking Fluid
Frein Filet
Frena Filetti
Fijador de tornillos

M5x10

M8x65

4

J2 J3

1

J4 K



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich, Alexander de la Motte • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

L3

L L

L4

2

2

5

3a 32

2

5

55

2

L

R R

R

L1 L2

L5



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich, Alexander de la Motte • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de

L6

R

6

R

Batterie (+)

(-)

2

4

(+)

4

R

R

M N

O FO !IN
Verkleidungteile wieder 
montieren

Refit the cladding parts



BY  W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

Wunderlich GmbH • Kranzweiher Weg 12 • 53489 Sinzig • Gewerbepark • Germany • Tel. +49-(0)2642-97980 • Fax +049-(o)2642-979833 • e-mail wunderlich@wunderlich.de
Geschäftsführer/Mamaging Directors: Erich Wunderlich, Alexander de la Motte • Amtsgericht Andernach • HRB 12314 • USTID-Nr./VAT-No. 01 DE 149 271 221 www.wunderlich.de 7

FO !IN
In Verbindung mit Tankschutzbügel 26450-201/202

In conjunction with Tank guard. (26450-201/202)


